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Question 1

Question Type: MultipleChoice

Which protocol is used between an Endpoint and a Switch with an 802.1 authentication?

Options:

A- RADIUS
B- EAP
C- MAB
D- TACACS

Answer:

B

Question 2

Question Type: MultipleChoice




Device Sensor provides which two types of information to ISE? (Choose two.)

Options:

A- DHCP

B- Encrypted traffic
C- User/Device Name
D- CDP

E- NetFlow

Answer:

A D

Explanation:

https://lwww.cisco.com/c/en/us/support/docs/security/identity-services-engine/200292-Configure-
Device-Sensor-for-1ISE-Profilin.html?referring_site=RE&pos=1&page=https://www.cisco.com/c/en/us/td/docs/

switches/lan/catalyst3750/software/release/15-0_1 se/device_sensor/guide/sensor_guide.html


https://www.cisco.com/c/en/us/support/docs/security/identity-services-engine/200292-Configure

Question 3

Question Type: MultipleChoice

Which party solution integrates with Cisco's security and network portfolios within the ISE?

Options:

A- 25+ 3rd party solutions
B- 20+ 3rd party solutions
C- 30+ 3rd party solutions
D- 45+ 3rd party solutions

E- 60+ 3rd party solutions

Answer:

Question 4

Question Type: MultipleChoice




What definition is not part of 4D Training?

Options:

A- Demo
B- Discover
C- Deploy
D- Defend

E- Design

Answer:

D

Explanation:

https://lwww.cisco.com/c/en_sg/partners/blackbelt/enterprise-networking.html#~stickynav=2

Question 5



https://www.cisco.com/c/en_sg/partners/blackbelt/enterprise-networking.html

Question Type: MultipleChoice

Which two products are supported as "Extended" in DNA-C 1.1? (Choose two.)

Options:

A- IE switches

B- Catalyst 6807

C- Catalyst 3560-CX
D- M3 Line cards

E- AP 3800

F- Catalyst 4500-E

Answer:

A C

Explanation:

https://www.cisco.com/c/dam/en/us/solutions/collateral/enterprise-networks/software-definedaccess/


https://www.cisco.com/c/dam/en/us/solutions/collateral/enterprise-networks/software-definedaccess/

guide-c07-739242.pdf

Question 6

Question Type: MultipleChoice

Which two are benefits from a WAN design? (Choose two.)

Options:

A- Prioritize and secure with granular control

B- Reduce cost and increase operational complexity
C- Lower circuit bandwidth requirements

D- Provide lower quality service to guest users

E- Ensure remote site uptime

Answer:

A C



Question 7

Question Type: MultipleChoice

Which two factors are used in calculating the Cisco SD WAN -- 1yr, 3yr, or 5yr subscription cost? (Choose

two.)

Options:

A- Service Bandwidth
B- Security

C- Routing Protocol
D- Features

E- Hypervisor Platform

Answer:

A D

Question 8




Question Type: MultipleChoice

What is an example of Correlated Insights for SDA and Switching?

Options:

A- Excessive Onboarding Time
B- Roaming Pattern Analysis
C- Control Plane Reachability

D- AP License Utilization

Answer:

Explanation:

http://www.tyrc.edu.tw/images/2/29/107051006.pdf page 72

Question 9



http://www.tyrc.edu.tw/images/2/29/107051006.pdf

Question Type: MultipleChoice

Which three technologies are used in an SD-Access Fabric? (Choose three.)

Options:

A- MPLS
B- TrustSec
C- VXLAN
D- OTV

E- LISP

F- RSVP

Answer:

A CE

Question 10

Question Type: MultipleChoice




Which is a key function of a Digital Network?

Options:

A- Centralized provisioning
B- Software upgrades
C- Provides secure data plane with remote vEdge routers

D- Nat traversal

Answer:

Question 11

Question Type: MultipleChoice

Which two platforms can host a vEdge Cloud Router? (Choose two.)



Options:

A- Microsoft Azure
B- Dreamhost

C- AWS

D- DigitalCloud

E- Google

Answer:

A C
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